Offset mdf italia

Istruzioni di montaggio 05:2025
Assembly Instructions
Montageanleitungen

Instructions de montage

Instrucciones de montaje

Offset < L240
Offset > L240
Alluminium top

— O W

T TTO
—

O-¢100-861L0C6N

Design by Francesco Meda, David Lopez Quincoces



Offset

Kit ferramenta
Hardware kit
Hardware-kit
Kit de matériel
Kit de hardware

A

5

M8X61

M8X37

M8X25

M8X10

EXX1

Adhesive
rubber
grommet X20

G

S

Left side cap X2

4

X

Right side cap X2

-

Felt X4
indoor use

-

Rubber

grommet X4
outdoor use

=

N
Bracket X4

>

M5X6 (x8)

Offset

Tables < L240

om@ﬂﬂ
o@ﬂﬂ




Offset Tables < L240

3

Place the top then
tighten screws by hand

Place the rubber grommets along the whole perimeter of the frame.

Offset Tables < L240

<

Fix it with M5x6 screws.

Place the bracket.



Offset Tables > L.240 Offset Tables > L240

1 3 ///

od
od




Offset Tables > L.240 Offset Tables > L240

Place the rubber grommets along the whole perimeter of the frame.

3




Alluminium top only

Offset

Tables > L.240

Offset




Offset mdf italia

For cleaning and maintenance, please see the
information on the website www.mdfitalia.it

BUREAU VERITAS
Certification




